workbench

Thank You!

You have successfully downloaded your document
from Workbenchmagazine.com. Below are some
tips for Trouble-Free Printing

1) Clear printer memory. If you are unable to print this document,
turn off your printer for at least 15 seconds and try again.

2) Print two or three pages at a time. If clearing the printer
memory didn't help, try printing only two or three pages at one
time, rather than sending the entire file

3) If a document is required to be at an accurate scale set the page
scaling option to "none" in your printer settings.

4) Get advanced printer help. Visit Adobe Support for instructions
in troubleshooting common printer problems.

http://www.adobe.com/support/techdocs/316508.html



http://www.adobe.com/support/techdocs/316508.html

Issue 258  Number 2 March/April 2000

MATERIALS LIST FOR ARBOR CANOPY & SIDE PANELS

LUMBER: (CANOPY & SIDE PANELS) HARDWARE:
(4) Arches 115" x 71/4" x 36" (32) #8x 2" Fh exterior woodscrews
(2) Stretchers 3/5" x 31/2" x 26" (40) #8 x 2%/4" Fh exterior woodscrews
(1) Ridge 11/2" x 5l/" x 31" (16) #8 x 31/," Fh exterior woodscrews
(14) Slats 11" x 115" x 295" (24) 4" Timberlock screws or /2" x 4"
(2) Plates 11/5" x 5" x 291" lagscrews
(4) Legs 11/ x 314" x 72"
(4) Side Rails 117" x 31/" x 23"
(2) Rail Backer  11/"x 31/,"x 23"
(4) Retainer Stp.  11/5" x 11/5" x 59"
(2) Lattice Panels 5/g" x 207/g" x 597/5"

CUTTING DIAGRAM FOR ARBOR CANOPY & SIDE PANELS

2x & -72" TWO BOARDS

2x 6 - 96" ONE BOARD

A E E

2x4-96" SIXBOARDS

| ; |
| ; |
| : |

Page 1 of 4

Copyright 2003, August Home Publishing Company.
All Rights Reserved.



WORKBENCH

Issue 258  Number 2 March/April 2000

CUTTING DIAGRAM FOR ARBOR CANOPY & SIDE PANELS

ARBOR CUTTING DIAGRAM

2x2-96" &BOARDS

[ C [ C [ C [ ]
[ [ [ C [ C [ ]
[ C I [ [ c I |
[ C [ C [ c [ ]
[ c [ 1 I ]
[ C [ 1 I ]
[ 1 r ]
[ 1 r ]

1x4 - 72" ONE BOARD

b p # P

Page 2 of 4

Copyright 2003, August Home Publishing Company.
All Rights Reserved.



WORKBENCH. EYZ

Issue 258  Number 2 March/April 2000

MATERIALS LIST FOR BENCH

LUMBER: HARDWARE:
(2) Ends 112" x 31/5" x 211/," (29) #8 x 2" Fh exterior woodscrews
(1)  Front Rail 112" x 3L/5" x 47Y/," (4)  #8x 234" Fh exterior woodscrews
(1) Back Rail 11/2" x 51/5" x 50%/," (20)  #8 x 31/," Fh exterior woodscrews
(5) SeatPlanks 3/2" x 31/2" x 501/2" (16)  4d galv. box nails (w/heads clipped)
(1) BackRest  11/2"x 5!/," x 50Y/,"
(1) SeatBrace 11/2"x3!/,"x 16"
(8) BackSlats  3/4"x 32" x 111/4"

CUTTING DIAGRAM FOR BENCH

2x 6 -72" TWO BOARDS

2x4-72" TWO BOARDS
| : | o P
| . . [

1x4-72" SIX BOARDS

SN
ol B B B B B B B

Page 3 of 4

Copyright 2003, August Home Publishing Company.
All Rights Reserved.



WORKBENCH.

Issue 258  Number 2 March/April 2000
WING CUTTING DIAGRAM (PAIR)

2x 6 - 48" ONE BOARD

R R

2x4-72" two BOARDS

| T

[
SRS

| T

2x4-96" TWO BOARDS
| ’ |
| ’ |

1x4 - 96" TWO BOARDS

| ‘ | ‘ | ‘ -
| ‘ | ' | ‘ I

FENCE CUTTING DIAGRAM (SINGLE SECTION)

®

Y

(O]

o B I R

2x4-120" TWO BOARDS

| X | w

] ]

| X | w

1x4 - 96" THREE BOARDS

Y | Y | Y

[T

| " | " | "

RENNEN

. | - | -

—

WING CUTTING DIAGRAM (PAIR)

2x 6 - 48" ONE BOARD

VA z

2x 4 - 48" ONE BOARD

- v~ 17

2x2-96" TWO BOARDS
[ B2 [ B2 [

[ c2 I c2 I

1x4 - 96" TWO BOARDS
| D2 | D2 | D2 I//
| D2 | D2 | D2 I//

NN

Page 4 of 4

Copyright 2003, August Home Publishing Company.
All Rights Reserved.





